ANM(R) & GNM-2021
( 2" Shift )

LIFE SCIENCES (¥ fRwm)
1.  Which among the following has 23 Chromosomes ?
(A) Spermatogonia (B) Zygote
(C) Secondary oocyte : (D) Oogonia
A5 DTS Y0 B e A 2
(A) et | (B) T
(C) TFe Tnes (D) e

2.  Enzyme amylase belongs to category -
(A) Oxidoreductase (B) Transferase (C) Hydrolases (D) Isomerase

AT TS (P ReIis wees 2
(A) SFREEREREE (B) HrmEe (C) TXEEET (D) SRS

3. The main elements of acid rain are.

(A) HCland H,SO, | (B) HNO, and H,SO, J

(C) HCIand HF (D) HNO, and HF f

e o TS 77 - | :
\ (A) HCI &3 H,S0, ' (B) HNO, &% H,50,

(C) HC! €% HF (D) HNO, @& HF

4.  Piriformis muscle helps in which of the mentioned method?

(A) Rotation (B) Flexion (C) Abduction (D) Adduction
MN5a @ *wRTS A& fRreafEny rorh gy IR ¢ |
(A) TGS (B) TFIA (C) WRSR™N (D) WieRH
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ANM(R) & GNM-2021
S.  JFM project started at first in -

(A) WestBengal (B) Kerala (C) Nagaland (D) Jammu
JFM {rer® T3 e e 51 T ?
(A) =P (B) T L (C) WS (D) %

6. Prothrombin is known as

(A) FactorI (B) FactorII (C) Factor III (D) Factor IV
TR S (@R A RS 2
(A) TIBAI (B) WAL . (C) TR (D) TIBAIV

7. Choose which of the following terms is applicable for swim bladder in fish-
(A) Homologous organ (B) Analogous organ
(C) Vestigial organ ' (D) Hydrostatic organ
M0 A T b oo e oD TR
@4) ToRESE  (B) Tgduww () Rewwr (D) SateRw e

8. Antiketogenic hormone is -
(A) Adrenaline (B) Nor - adrenaline (C) Insulin (D) Glucagon
R R TR T -

(A) wfEAfem - (B) wwﬂﬂﬁ# (C) T¥ffem (D) FIR

9.  Which of the following flower is insect pollinated?

(A) Paddy (B) Mango (C) Hydrilla (D) Bigonia
MNww D erowem gw ¢
(A) 4W (B) & (C) wafgw (D) frfaw

s 4 v - —
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10.

11.

12.

13.
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Leaves of Opuntia get modified into-

(A) Spine (B) Prickle (C) Thomn (D) Phyllode
FRTR AT (31 S FRRS (AR ? _ |
(A) ATTDF (B) *RIF5F (C) PATMF (D) 9@

Sunken stomata is found in

(A) Sundari - (B) Cactus (C) Lotus (D) Ocimum
faafefe om Sfem Maftere “aeg R 3 ?
(A) WX (B) FIFOFT (C) ™ (D) DA

Phylloclade is a morphological change found in -

(A) Sundari (B) Cactus (C) PeaPlant (D) Parthenium
wErERE s R Aders Fafafie (R ST T 3w 7

(A) TR (B) FIFOH () WA R (D) =ndFars

Which of the following is a mangrove plant ?

(A) Hygrophila (B) Salvia (OF Waterc‘hestnut (D) Avicennia
Apa TG FiRny ST SR 7 |

(A) TECAfFE (T | (B) efSA

(C) SABREEAG (Afwa) (D) e

The percentage of tall and dwarf pea plants produced in -F1 generation due to
hybridization of two hybrid tall pea plant will be.

(A) 50%and25% (B) 25%and25%  (C) 75%and 25% (D) 50% and 50%
A% ewa AR WAL T TFAA G AT WA K0T TS M0 77 =R 44
woamg AN (I ?

(A) 50%dR25% (B) 25%aR25% (C) .75% &R 25% (D) S50% & 50%

[ e it . o . o o o | 1 B e b 3 et i i
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16.

17.

18.

19.
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Which of the following is an occupational disease ?

(A) Asbestosis (B) Hepatitis
(C) Amoebic dysentery (D) Malaria
AR TG TS ST ?

(A) SEIAGIRE (B) T=eGrEfx
(©) wfif¥e fErrh (D) A

Thebesian valve is present in the opening of which blood vessel ?

(A) Pulmonary artery (B) Pulmonary vein
(C) Coronary sinus ' (D) Coronary artery
Rt Ffe 7 aEaTa ot A ¢ 2= -

(A) T A (B) gt
(C) JITARA AR (D) JICAR =R

Reserve pacemaker is —

(A) SA Node (B) AV Node (C) Bundle of His (D) Purkinje fibres
fefte poritarft 2= -
(A) SAT® (B) AV () fErmafea. (D) -mafefa =3
Select which of the following Hemophilia disease is linked to —
(A) Y-Linked (B) Non genetic (C) Autosomal (D) X-Linked
Rrf¥fera warf Mea A e F=A¥Fs
A Y-fres.  (B) TEGHE (C) wmEm=E (D) X-foms
Which of the following media has maximum refractive index?
(A) Aqueous humor (B) Vitreous humor (C) Lens (D) Comnea
A= 1w W A SREw @ 2
A) WFERtE (B) REwfREw () wE D) wFfm
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20.

21.

22.

23.

24.

25,
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Absorption of water from chromosome takes place in which stage of cell division?
(A) Telophase (B) Anaphase (C) Metaphase (D) Prophase
T RETUTs! (1 “T4CH OO Wit (e 23 ¢ |
(A) T (B) I C) TorwFw (D) IR

The mode of reproduction in which an individual produces offspring without the help of
another individual is called -

(A) asexual reproduction (B) fertilisation

(C) spore formation (D) vegetative reproduction

TR W SRS G 7o T, O] I AT HIR o1y W I FI(S M ?
(A) wlweww  (B) foee (C) WITeAA (D) e oA

Gamete produced from AaBB is -

(A) One type (B) Two types (C) Threetypes (D) Four types
AaBB TU(F 3T (I M0 (SN S M
(A) 99 QR (B) V& @4 (€ @@ (D) AR

Function of Buffer is -

(A) Decrease pH Level (B) Increase pH Level

(C) Inhibiting pH Changes ' (D) Not related to pH

ATIEH I T _

(A) pH &% W& FCH (B) pH <% W@ IS

(C) pH 7ARIEEH A ST (D) pH 93 Y F==AFG 77
TIodine makes starch turn to

(A) Blue black (B) Red (C) Green (D) Colourless
SRR eI Tyesa T e e za 2

(A) e (B) ¥ C () W= D) ¥
Urea is a waste produced in the process of the breaking down of

(A) Proteins (B) Carbohydrates (C) Fats (D) Sugars
I BHAMITTR ©leTTR I e TR Sesmzw ¢

A) T (B) & (€ = D) B

ANM(R) & GNM-2021 (Shift-2) 6 — — S



ANM(R) & GNM-2021
PHYSICAL SCIENCE (T8 fwis)

26. Which of the following gases does not normally participate in any chemical reaction?

(A) Hydrogen (B) Neon (C) Carbon dioxide (D) Methane
e mmefeR W [AD TRES: I IETHAS R ST I A
(A) TRLEE B) = (C) ¥4 TEwATT (D) fre

27.  1f 800 calorie of heat is applied to 10 g of ice at 0°C,
(A) about half the ice will melt

(B) entire ice will become water and then vaporize
(C) 10 g of water at 10°C will remain

(D) 10 g water at 0°C will remain
0°C ST 10 g INTTF 800 I Srof LTA FACH

(A) &M SEF AT A W

(B) IR T Wl U A1 TW WA
(C) 10°C SN 10 g W MW WA
(D) 0°C ST 10 g W# NG WA

28. If a note contains four tones of frequencies 256, 400, 512 and 630, which one is a

harmonic ?

(A) The tone of frequency 256 (B) The tone of frequency 400

(C) The tone of frequency 512 (D) The tone of frequency 630
«2fb T T 256, 400, 512 8 630 F=eiTw SR IR RS A T T W2
(A) 256 F=ITHR T (B) 400 I=irEs

(©) 512 7wz R (D) 630 F=ICe7

29. The eye lens of a human body is a
(A) biconcavelens (B) biconvexlens (C) plane mirror (D) prism
WY TR BF T T 3 |
(A) BEREAE  (B) AT (C) WWeAwS® (D) R
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ANM(R) & GNM-2021
30. Choose the right answer.

Under special circumstances. a body’s

(A) mass and weight both can be zero

(B) mass can be zero, but weight cannot be zero
~ (C) mass cannot be zero, but weight can be zero

(D) neither mass nor weight can be zero

3% Sued v 34|

e «ffEfers wm =

(A) ST8 9O -7 [ (O *iF

(B) S (S A ¥ 9ot =77 30w M2
(C) ST (S ~AH 7 5§ S8 =7 7@ M
(D) ©F A ST [FAMD-B *F7 T Mg

31. A 20 g bullet is fired from a gun. The bullet hits a'sandbag with 100 m/s speed and stops
after 10 cm into the sand. How much stopping force was applied by the sand ?

(A) 1000 N (B) 100N (C) 200N (D) 500 dyne

G THF T 20 g SR G A6 &1 T4 | JEBB 100 m/s RT3 e B
SIS F(E R T 10 om VLR P T 1911 | o7 So Afers aifSray 7= v B+ 2

(A) 1000 N (B) 100N (C) 200N (D) 500 dyne

32. Newton is a unit of

(A) mass (B) force (C) gravitation (D) electric current
e R gz ¢

(A) ®d - B = ©) ufert (D) ®fex AR

~ 33. What is measured by a common balance ?

(A) Mass (B) Weight (C) Force (D) Pressure
e gy (et e sz e
(A) ©= (B) s&« O = (D) ®™

' ANM(R) & GNM-2021 (Shift-2) 8 D
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36.

37.
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If a person goes around a square shaped park of 10 m sides once in 16 seconds, his .
average speed and total displacement is

(A) 1.6m/s,10m (B) 25m/s,40m (C) 3.2m/s,10m (D) 2.5m/s,0m

93 IF @@ 10 m AT RFER iR T SRME 16 TS G TJ O OF T8
wfe 8 6 e 7@

(A) 1.6m/s,10m (B) 2.5m/s,40m (C) 3.2m/s,10m (D) 2.5m/s,0m

Small drops of dew are always spherical in shape. It is due to its

(A) elasticity (B) surface tension
(C) viscosity (D) density

(=l TG fifés g SR IR 49 I | 3

(A) e - ®) PR

(©) rgel (D) g

The three elements |gAr 40, | (K4® and ,,Ca*’ can be called

(A) isotopes | (B) isobars
(C) isotones | ' (D) isochems
1gAr, K408, Catl -9 oAb TieCe <& 3w |

(A) SR - (B) WECIRE
(C) WRCIGH (D) WRCAE

If molecular densities of oxygen, hydrogen and sulphur are respectively 32, 2 and 32 then
what is the molecular density of sulphuric acid ?

(A) 49 (B) 98 (C) 82 (D) 66
wfEeH, TEOEE 8 ATRIIT SRS ¢FY I TUTFCH 32, 2 8 32 TN O AFEHE
WY TS 9FG TG ?

(A) 49 (B) 98 © 82 (D) 66

o ——. - 102 o . o y— ot 77O . it 1 o . O B
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ANM(R) & GNM-2021

38. In the following table select the correct tatching between the substances named in first
column and the classification names given in the second column,

Substances Classification
1. Brine a. Mixture
2 Smoke b. Emulsion
3. Butter c. Solution
4, Soil d. Colloid
(B) 1-a,2-b, 3-¢, 4-d

(A) 1-c,2-d, 3-b, 4-a
(C) 1-d, 2-c, 3-a, 4-b
N7 TN 29w a8 e ol e Ml aeE theT Tt Awefem 3T ANeT

fAfaw)

(D)

1-b, 2-d, 3-c, 4-a

(A) 1-c,2-d, 3-b, 4-a
(C) 1-d,2-c,3-a,4-b

K ot
1. T a. frept
2. T b. EweT
3. WR| c. 434
4. =5 d. FCAC
(B)
(D)

39. The acid which is mostly present in acid rain is

1-a, 2-b, 3-c, 4-d
1-b, 2-d, 3-c, 4-a

(A) Nitric acid . (B) Hydrochloric acid
(C) Sulphuric acid | (D) Citric acid
TS X WIS IR R A ©f &

(a) ez wnfe (B) TREFRF wfre
(C) ISR wiffe (D) iz wnfe

40. A water pump can fill a 500-litre water tank kept at 6 m height in 50 minutes. What is the
- power of the pump ? (g = 10 m/s?)
(A) 10Watt (B) 30 Watt (C) S Watt (D) 15 Watt
3w oot 50 R 6 b Tewom et w500 PR e e wret wrw oY
FACT A | etz e IS 2 (g = 10 m/s?)

(A) 10 Watt (B) 30 Watt (€C) 5 Watt (D) 15 Watt

—_ 1 S e o b £ 5 B O 1, B S . A . L5 . Lo S . TV e b o o St S
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- 44.

45.
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ARITHMETIC (*1Bvfr)

Which number must be added to each of the numbers 5, 10, 15 and 25, so that the sums
are ratio metric ?

(A) 10 (B) 3 © 5 (D) 7
5,10, 15 8 25 -7 (ST X (P LT Tt A [Aorwanefer s 2 7

A) 10 (B) 3 € 5 D) 7

A capital of T 400 becomes T 441 in two years with compound interest. What is the
yearly rate of compound interest ?

A) 7% B) % C) 10% ®) 11%
400 B % TRTH I a3 441 511 ZCeT I 03 5T O TR IO ?
(A) 7% B) 5% | (C) 10% D) 11%

A solid sphere and a circular cylinder have same radius and same volume. What is the
ratio of the radius and the height of the cylinder ?

(A) 43 (B) 3:4 (C) 45 (D) 5:4

S REB Tie ¢ @ 77 IS IOH JIPTE @ T ST T BB ARG 9
TEHOR SIS IS (A 7

@) 43 (B) 3:4 “(C) 45 (D) 5:4

When the price of eggs per.dozen reduces by ¥ 6, three more eggs are available in T 30.
What was the rate per dozen before the rate reduced ?

(A) %30 (B) 24 (C) 260 (D) T48

o #ff% o WIN 6 Bt T 30 Brary e oAl =2 fEw snsw | w0 e @
o TR wiN IS & 2

(A) T30 (B) T24 (C) %60 (D) 748

Total surface area of a cube is S sq. unit, and the length of its dlagonal is D unit. The

relation between Sand D is -
(A) S=6D* (B) 3S=7D © $'=D? D) D= %

qaf TR TN SR CFaeH S 3 @39 ¢ Ifa G D m'tcasen-mw
T

(A) S=6D? (B) 38=7D (C) $¥=D? D) D2= .g_

P ——UY_t L L L]
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52.

53.

54.
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ENGLISH GRAMMAR (Zerad} 1939)

Fill in the blank with the most appropriate word/ group of words to make the sentence

meaningfully complete.
I shall not join you need me.

(A) ifnot (B) if (C) whether (D) unless

Fill in the blank with the most appropriate word/ group of words to make the sentence
meaningfully complete.

His statement is replete ___ contradictions.

(A) in (B) of (C) by (D) with

Find out which part of the sentence has an error.
The blinds _ deserve  our sympathy A and cooperation

@w e o T 0O
Choose the word, which has nearly the same meaning as OBLIGATORY.
(A) Agreeable (B) Required (C) Stubborn (D) Useful

Choose the word, which is opposite in meaning to FICKLE.
(A) Tasty (B) Quick (C) Constant (D) Healthy

Choose the word that can replace both the words in italics in the two given sentences.
I.  The document was declared void. '

II. 1 felt pity for the sickly person.
(A) Useless (B) Defective (C) Invalid (D) Weak

Choose the word, which can most appropriately replace the italicized words in the given

sentence .
Primitive tales mainly comprised sfories of old-time gods and heroes.

(A) ode . (B) legend (C) epic (D) allegory

Choose the most effective word to fill in the blank to make the sentence meaningfully

complete.
Those who have well their transition from village life to city life have prospered.

(A) managed (B) taken (C) tried (D) finalised

Observe the two italicized words in the following two sentences and give your
observation by choosing any one option below.

I A vote of censur was passed against the Chairman N\

II.  Every film needs a clearance from the Censor Board b N

(A) Only sentence-I is correct \N\ &

(B) Only sentence-II is correct \

(C) Both sentences I and II are correct

(D) Neither sentence I nor sentence II is correct

e o o s o o o e St P 1y A o T . B,
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Choose the most effective word to fill in the blank to make the sentence meaningfully
complete.

Ashok had to drop his plan of going to the picnic as he had certain to keep during
that period.
(A) urgencies (B) preparations  (C) commitments (D) arrangements

GENERAL KNOWLEDGE (F4I3 &I<)
Which scientist discovered the radioactive element radium?

(A) Isaac Newton (B) Albert Einstein

(C) Benjamin Franklin (D) Marie Curie

R @ toufry e e Sk F6EH ?

(A) nEers fAEhT (B) IeRIG SZTOIEA

©) Rafim Fhehm D) TRIR

The number of bones in an adult human skeleton is

(A) 200 C ®) 225 (C) 306 (D) 206
AR TACZ 2T Tl T

(A) 00 (B) ¢ . (C) oY (D) 0%

“The Discovery of India’ was written by

(A) Mahatma Gandhi (B) Jawaharlal Nehru
(C) Indira Gandhi- (D) Satyajit Roy
“The discovery of India’ 2z ferdfRre™ |
(a) e R | (B) EFAA TIZF
() = nf (D) Toifere TN
The ‘Char Minar’ is in

(A) Ahmedabad (B) Hyderabad
(C) Delhi (D) Agra

513 iR 1Y g 2

(A) WM (B) TWERM

(© i (D) o

ANM(R) & GNM-2021 (Shift-2) 13 D
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60. When Alexander the great invaded India, the dynasty which was ruling over entire norty

India was :
(A) Gupta Dynasty (B) Maurya Dynasty
(C) Sakya Dynasty (D) Nanda Dynasty

memmqummmmmmm

LUK
(A) °F I (B) T2~

(©) ™7 (D) /A

LOGICAL REASONING (#ferie fifae)

61. Find the right option below where the two given words have the same relatlonshlp as,

‘TRAIN — RAILS’
(A) Bus - Driver (B) Car—Engine (C) Boat—River (D) Cart— Horse

62. Choose the right option which will complete the first word and begin the second word.
ST(..)PLE 7
(A) rip (B) ore (C) ricke (D) udent

63. Select the right option that will replace the question mark and continue the pattern

Choose the right option.
v )9 oY
A N . &
(A) (B) © D)
64. Which of the following figures does not belong to the series ? | A@
: @?\) g
| 7
/N O L0
(A) (B) © D) |

65. Find the odd one out.
(A) Year 1900 (B) Year2020 (C) Year2013 (D) Year 1967

L . e P e A g Lo . (bt 17 P SR U Al 0, 000 0 AP 5 A A 1 0 e B, S B, St S, P o . S e SRS BB b1 ot . A b 10, e
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